Test: Primary 3 - Term 2 (SA1) Math (Sch R)
Points: 80 points
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Date:
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Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 55 Primary 3 Math (Term 2) 1 pt

SECTION A (28 marks)

Questions 1 to 6 carry 1 mark each.

Questions 7 to 17 carry 2 marks each.

For each question, four options are given. One of them is the correct answer. Make your
choice.

What is seven thousand, two hundred and nine in numerals?

A) 729

B) 7029
C) 7209
D) 7290

Question 2 of 55 Primary 3 Math (Term 2) 1 pt

Find the sum of 784 and 2039.

A) 1255
B) 2713
C) 2813
D) 2823



Question 3 of 55 Primary 3 Math (Term 2)

What is the length of the highlighter as shown in the diagram below?
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A) 3cm
B) 6cm
C) 9cm
D) 12cm

1 pt



Question 4 of 55 Primary 3 Math (Term 2) 1 pt

Find the mass of the orange on the weighing scale.

A) 107g¢g
B) 117¢g
C) 170¢g
D) 190g

Question 5 of 55 Primary 3 Math (Term 2) 1 pt
What is the product of 6 and 7147

A) 708

B) 720

C) 4284
D) 4264



Question 6 of 55

Study the figure below carefully.

Primary 3 Math (Term 2) 1 pt

How many more circles than triangles are used in the figure?
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A) 2
B) 3
C) 5
D) 8
Question 7 of 55

What is 4839 + 3727

A) 4467
B) 5101
C) 5211
D) 7559

Question 8 of 55

Find the value of 854 x 7

A) 847
B) 861
C) 5658
D) 5978
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Primary 3 Math (Term 2) 2 pts



Question 9 of 55 Primary 3 Math (Term 2) 2 pts

How many 50-cents coins are needed to make up the sum of money as shown below?

JA) 10
IB) 14
C) 20
D) 24

Question 10 of 55 Primary 3 Math (Term 2) 2 pts

The time shown on the clock below is

JA) 10 minutes to 5
(B) 10 minutes past 4
_JC) quarterto5

(D) half past 5



Question 11 of 55 Primary 3 Math (Term 2) 2 pts

Afrin wanted to buy a bag and a wallet from a shop. How much more money would she need
if she had only $120?

$65.70

A) $31.60
B) $43.00
C) $2270
D) $163.00

Question 12 of 55 Primary 3 Math (Term 2) 2 pts

| have 4 in the ones place.
| am bigger than 45 hundreds.
The digit in the tens place is thrice the digit in the hundred place.

What number am [?

A) 4054
B) 5314
C) 6264
D) 4504



Question 13 of 55 Primary 3 Math (Term 2) 2 pts

Aaron played soccer for 45mins after school. He stopped playing as shown on the clock
below. What time did Aaron start playing?

A) 4.45pm
B) 4.20 pm
C) 5.05pm
D) 5.50 pm

Question 14 of 55 Primary 3 Math (Term 2) 2 pts

Matthew had 8 boxes of tangerines. Each box had 29 tangerines.
He sold 179 tangerines. How many tangerines did he have left?

A) 53
B) 71
C) 150
D) 232



Question 15 of 55

Look at the 3-D figure below.
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How many flat surfaces does it have?

A) 3
B) 2
C) 1
D) 4

Primary 3 Math (Term 2)

2 pts



Question 16 of 55 Primary 3 Math (Term 2) 2 pts

Gene has the following amount of money. He wants to get chocolate bar.

CHOCOLATE BAR CHOCOLATE BAR CHOCOLATE BAR

Buy 3 for $4’
Get 1 free

What is the most number of chocolate bars that he can get?

A)
B)
C)
D)

© o0 O W



Question 17 of 55 Primary 3 Math (Term 2) 2 pts

The picture graph below shows the number of goals scored by five pupils in the soccer team.
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Each stands for 3 goals.

How many more goals did Azmi score than Gopal?

A) 6
B) 9
c) 15
D) 21

Question 18 of 55 Primary 3 Math (Term 2) 1 pt

SECTION B (32 marks)

Questions 18 to 23 carry 1 mark each.

Questions 24 to 36 carry 2 marks each.

For questions which require units, give your answers in the units stated.
All diagrams are not drawn to scale.

18. Write 4739 in words.



Question 19 of 55 Primary 3 Math (Term 2)

What is the difference between 3658 and 70427

Question 20 of 55 Primary 3 Math (Term 2)
390 +6 =
Question 21 of 55 Primary 3 Math (Term 2)

What is the total amount of money shown below?
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Question 22 of 55 Primary 3 Math (Term 2) 1 pt

The clock shows the time that Sally leaves for work everyday.

What time does Sally go to work?



Question 23 of 55 Primary 3 Math (Term 2) 1 pt

Sam started his Math tuition at 6.45 p.m. His lesson lasted 45 minutes. What time did his
tuition end? Choose the correct option.

A)

B)

C)

Question 24 of 55 Primary 3 Math (Term 2) 2 pts

Sufen collected 4152 stickers. Huixian collected 2789 stickers.
How many more stickers did Sufen collect than Huixian?



Question 25 of 55 Primary 3 Math (Term 2)

Arrange the following numbers in order, beginning with the greatest. Put 'space’ or ',
between your answers.

2 pts

4785 4857 4758 4587

Question 26 of 55 Primary 3 Math (Term 2)

Divide 625 by 7.

Question 27 of 55 Primary 3 Math (Term 2)

Look at the figure below.
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There are fewer circles than the sum of triangles and rectangles.
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Question 28 of 55 Primary 3 Math (Term 2) 2 pts

What is the missing number?

3735, 3335, , 2535, 2135, 1735

Question 29 of 55 Primary 3 Math (Term 2) 2 pts

Form the biggest odd number by using all the cards given below.

3 7| |8 9

Question 30 of 55 Primary 3 Math (Term 2) 2 pts

Look at the items below carefully.

g

Shoes Necklace Bag Badminton racket
$2090 $19.00 £49.90 $86.50

Penny went shopping with $150.
She bought three of the items above and had less than $20 left.
Which three items did Penny buy?

A) Shoes, Necklace and Bag
B) Necklace, Bag and Badminton racket
C) Shoes, Necklace and Badminton racket

D) Bag, Badminton racket and Shoes



Question 31 of 55 Primary 3 Math (Term 2) 2 pts

Caleb had $12. He bought a slice of pizza and two packets of crackers.

Ero rﬂ R |

Pizza Crackers
$3.80 per slice $1.55 each

How much money did Caleb have left?

Question 32 of 55 Primary 3 Math (Term 2) 2 pts

A piece of blue cloth was cut into four pieces; A, B, C and D of different lengths.
A was longer than C. B was longer than C but shorter than A.
D was longer than A.

Arrange the pieces, A, B, C and D in order. Begin with the shortest piece.
Put 'space’ or',' between your answers.



Question 33 of 55 Primary 3 Math (Term 2) 2 pts

The picture graph below shows the number of marbles that five children have.

Children Number of marbles

Felix < < LY

s X .
Andrea @
Sharizal ® € & «® W

Faith S <

<

Each — stands for 6 marbles.
How many marbles must Sharizal give to Faith so that both of them have the same number
of marbles?

Question 34 of 55 Primary 3 Math (Term 2) 2 pts

3269 people visited the Jurong Bird Park on Saturday. 816 less people visited the Jurong
Bird Park on Saturday than on Sunday. How many visitors visited Jurong Bird Park on both
days?

Question 35 of 55 Primary 3 Math (Term 2) 2 pts

A fruit seller had 4437 pears. He packed them into boxes of 9. He sold 473 boxes. How
many pears did he have left?



Question 36 of 55 Primary 3 Math (Term 2) 2 pts

Sophia had a roll of cloth 680 cm. She used 498 cm to make a dress for a toy doll. She then
cut the remaining cloth into equal pieces of 7 cm each. How many such pieces did she get?

Question 37 of 55 Primary 3 Math (Term 2) 1 pt

SECTION C (20 marks)
Type your answers with suitable units. All diagrams are not drawn to scale.

Samuel bought a washing machine and a printer.

Printer
$ 469 |

b

Washing Machine
$ 2188

a) How much did the two items cost?



Question 38 of 55 Primary 3 Math (Term 2) 1 pt

Samuel bought a washing machine and a printer.

Printer
$ 469

-

%

Washing Machine
$ 2188

b) How much change did he get if he gave the cashier $3000? Choose the correct equation.

A) 3000 + 2657 = $ 5657
B) 3000 - 2657 = $ 343
C) 3000-2188 =% 812
D) 3000 - 469 = $ 2531



Question 39 of 55

Samuel bought a washing machine and a printer.

Printer
$ 469

¢) How much change did he get if he gave the cashier $3000?

He got $ )

Question 40 of 55

Ah Hock sold 6 baskets of mangosteens. There were 104 mangosteens in each basket.

-

%

Washing Machine
$ 2188

After that, he had 357 mangosteens left.

a) How many mangosteens did he sell?

Question 41 of 55

Ah Hock sold 6 baskets of mangosteens. There were 104 mangosteens in each basket.

After that, he had 357 mangosteens left.

Primary 3 Math (Term 2)

Primary 3 Math (Term 2)

Primary 3 Math (Term 2)

b) How many mangosteens did he have at first? Choose the correct equation.

A) 624 + 357 =981

B) 624 +104 =728

C) 624 -357 =267
D) 357 + 104 = 461

1 pt

1 pt

1 pt



Question 42 of 55 Primary 3 Math (Term 2) 1 pt

Ah Hock sold 6 baskets of mangosteens. There were 104 mangosteens in each basket.
After that, he had 357 mangosteens left.

b) How many mangosteens did he have at first?

He had mangosteens at first.



Question 43 of 55 Primary 3 Math (Term 2) 1 pt

Look at the diagram below.
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a) Find the mass of 1 bottle.



Question 44 of 55 Primary 3 Math (Term 2) 1 pt

Look at the diagram below.
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b) Find the mass of 1 papaya.



Question 45 of 55 Primary 3 Math (Term 2) 1 pt

Look at the diagram below.
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c¢) Find the mass of 8 such peaches.



Question 46 of 55 Primary 3 Math (Term 2) 1 pt

Seng Wee and Liam have 425 Pokémon trading cards altogether. Liam and Roger have 329
Pokémon trading cards altogether.
Roger has 86 trading cards.

a) How many trading cards does Liam have?

Question 47 of 55 Primary 3 Math (Term 2) 1 pt

Seng Wee and Liam have 425 Pokémon trading cards altogether. Liam and Roger have 329
Pokémon trading cards altogether.
Roger has 86 trading cards.

b) How many trading cards does Seng Wee have? Choose the correct equation.

A) 329 +86 =415
B) 425-86 =339
C) 425-329=96
D) 425-243=182

Question 48 of 55 Primary 3 Math (Term 2) 1 pt

Seng Wee and Liam have 425 Pokémon trading cards altogether. Liam and Roger have 329
Pokémon trading cards altogether.

Roger has 86 trading cards.

¢) How many trading cards does Seng Wee have?

Seng Wee has cards.

Question 49 of 55 Primary 3 Math (Term 2) 1 pt

Kenneth had 1930 Mickey mouse figurines. He threw away 43 figurines that were broken
and packed the remaining figurines into boxes of 8 figurines.

(a) How many figurines are not broken?



Question 50 of 55 Primary 3 Math (Term 2) 1 pt

Kenneth had 1930 Mickey mouse figurines. He threw away 43 figurines that were broken
and packed the remaining figurines into boxes of 8 figurines.

(b) How many boxes of 8 figurines were there? Choose the correct equation.

A) 1930+8=241R?2
B) 1887 +8=235R7
C) 1930+43=44R 38
D) 1887 +43=43R 38

Question 51 of 55 Primary 3 Math (Term 2) 1 pt

Kenneth had 1930 Mickey mouse figurines. He threw away 43 figurines that were broken
and packed the remaining figurines into boxes of 8 figurines.

(c) How many boxes of 8 figurines were there?

There were boxes of 8 figurines.

Question 52 of 55 Primary 3 Math (Term 2) 1 pt

Kenneth had 1930 Mickey mouse figurines. He threw away 43 figurines that were broken
and packed the remaining figurines into boxes of 8 figurines.

(d) How many figurines were left unpacked?

Question 53 of 55 Primary 3 Math (Term 2) 1 pt

Betty bought an equal number of ear-rings and bracelets. She spent total of $24. A pair of
ear-rings cost $2.60 and a bracelet cost $1.20 less than a pair ear-rings.

a) What is the cost of a bracelet?



Question 54 of 55 Primary 3 Math (Term 2) 1 pt

Betty bought an equal number of ear-rings and bracelets. She spent total of $24. A pair of
ear-rings cost $2.60 and a bracelet cost $1.20 less than a pair ear-rings.

b) What is the cost of a pair of ear-rings and a bracelet together? Choose the correct

equation.

A) 260+1.40=%4
B) 2.60+1.20=$3.80
C) 260-1.20=%$1.40
D) 24-260=%21.40

Question 55 of 55 Primary 3 Math (Term 2) 2 pts

Betty bought an equal number of ear-rings and bracelets. She spent total of $24. A pair of
ear-rings cost $2.60 and a bracelet cost $1.20 less than a pair ear-rings.

¢) How many bracelets did Betty buy?



